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(A) BEHI= 5 AAY00KN/ MEBZ BEEDBHD DB ABKN/n) E) B HmEBRZ DR B HIED S DBABERN/m) 2 THXERARUZEBNICSHIREEHT S ik BT
= N MZEkEA 2 AIEKN/M RE MImEREZ = N E ERHEES ZH1-L OSSN -
(B) (WAL BT B A D LB ED S Sm) (P ENLHEEN RS 558D LEE DB %fﬁ@o’f’;fé;%?Qi‘ﬂﬁ%%éf_ﬁ@ﬁﬁ AR 7E KEH B
() B BI=& % 5% 100kN,/mi L T DK DBH D 1 DBAFEKRN/ ) (G) HHER A3 LT O R0 HFED 1 DBABKRN/m) EMBEEIHEEHRRLBEBHRIRHALR
D) C)ALHEEYIERTIBENIEZENES(m) H) (N LHEREYIERTIBENTRZENEEM) DRFGFAENCHEET H_ENTES,
METREIUTHDTEEDADAZE SIESHBAD T EZ D HDKES
RKAES % =
(A) (B) (C) (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (@) (H)
(1) - - 86.1 1.0 - - 14.3 2.8 - - 86.1 1.0 - - 14.3 2.8
(2) 122.6 1.0 99.8 1.0 - - 14.2 2.8 122.6 1.0 95.3 1.0 - - 14.2 2.8
( 3) - - 85.0 1.0 - - 10.4 2.1 - - 85.0 1.0 - - 104 2.1
( 4) 110.3 1.0 99.9 1.0 - - 12.0 2.4 105.9 1.0 99.2 1.0 - - 120 24
(5) 104.5 1.0 98.7 1.0 - - 12.0 2.4 104.5 1.0 99.2 1.0 - - 120 24
(6) - - 96.0 1.0 - - 10.5 2.1 - - 96.0 1.0 - - 10.5 2.1
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